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CLASS-XII (2014-2015)

QUESTION WISE BREAK UP
Type of Question Mark per Total No. of Total
Question Questions Marks
VSA 1 6 06
LA-I 4 13 52
LA-II 6 7 42
Total 26 100

No chapter wise weightage. Care to be taken to cover all the chapters.

The above template is only a sample. Suitable internal variations may be made for generating
similar templates keeping the overall weightage to different form of questions and typology

of questions same

CHAPTERWISE MARKS in this Paper CI-XII (CBSE)
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Sr. TOPICS V SA LA iv[ ARIESA 11
No (IM) (4M) (6M) Total Marks
la Relation & Function 1 OR - 1
b Binary operation 1 4 10
lc Inverse Trig. Func 1 1 OR - 5
2.a Matrices 1+1+ 1 8 13
b Determinant 1 1 OR - 5
3.a. | Continuity, Differentiability 1+ 1+1 - 12
b. Applications Of Derivative 1 10R | 10
Indefinite Integral 1 -
© Definite Integral 1 - 8 44
Applications Of Integrals - 1 6
e Differential Equations 1+1 8
4.a Vectors 1 1 1 11 17
b | Three Dimensional Geometry 10R| 6
5. Linear Programming - 1 6
6. Probability 1 OR 1 10
TOTAL 6 13 7 100
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[Model Test—10(Q)/XII (14-15) 12" Dec’14] MODEL TEST [FM-100 /Time—180 min.]
(Pre-Board CBSE)
General Instructions :

1) All questions are compulsory.

1) The question paper consists of 26 questions divided into three sections A, B and C. Section A comprises
of 6 questions of one mark each, Section B comprises of 13 questions of four marks each and section C
comprises of 07 questions of six marks each.

iii) All questions in Section A are to be answered in one word, one sentence or as per the exact
requirement of the question.

iv) There is no overall choice. However, internal choice has been provided in 04 questi
each and 02 questions of six marks each. You have to attempt only one of the alternat
questions.

V) Use of calculators is not permitted. You may use logarithmic tables, if requir

<o <o <

four marks
¢$ in all such

Section-A (01 mark each )

1. Set A has 3 elements and the set B has 4 elements. Then the numb ipject appings that can be
defined from A to B is
a) 144 b) 12 c) 24 d) 64

2. Evaluate: sec’(tan™' 2)+cosec’(cot™' 3)

3 4 1 3
3. If A = , B =
1 -1 -2 5P
4. If A is a square matrix of order 3, such
x+3 2x 5 4
5. Let =
6 Sy 6 -15
6 Let G be the centroid of AABC. If AB AG is
2(5+B) (5+B) (5+B)
) —— i) —~ v)
3 2
Section-B (04 marks each )
7. Let * be a binary operation on Q, Q a ™y .Show that * is commutative as well as

associative. Also find its ide

If the mappings f'and g are gi

Prove that, c0 “cot ' 18 =cot ™' 3.
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9.

10.

1.

12.

13.
14.

15.

16.

17.
18.

19.

OR,

20.

If f(x)= { 5 & f(x) is everywhere differentiable

b+c qg+r y+z a p x

Using properties of determinants, prove that, [c+a r+p z+x|=2/b ¢q .
a+b p+q x+y c r z
OR

x+1 x+2 x+a
Ifa, b and ¢ are in A.P, then show that, | x+2 x+3 x+bl|=0 .

x+3 x+4 x+c

2x+3, for x<1

ax” +bx, for x>1

a way that the height of the cone is always one-sixth'g
the sand cone increasing when the height is 4 cm?
Find the equation of the tangent to y* = 4x + 5 which s
dx

Evaluate : I
1+2acosx+a

i
2
Evaluate: J

cos® x
sinx +cos x
d 2 d
Find the integrating factor for the linear’diffegenti ) +y 1= d_y
X x

—

If the vectors Zz,b and ¢ a

also coplanar vectors.
A man is known to spea
the probabdity that it is

Section-C (06 marks each )

by matrix method, 10 (Given %, y,70)

=
=
N
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21.

22.

23.

24.

25.

26.

Using integration, find the area of the region: {(x,y) L 0<y<x?; 0<y<x+2; 0<x< 3}

2 2

Y

Find the maximum area of an isosceles triangle inscribed in the ellipse Y +“— =t~with its vertex at

)

Show that the

one end of major axis.

36 16
OR
A point on the hypotenuse of a triangle is at distance a and b from the-sides of\the triangte
2
maximum length of the hypotenuse is (a3 +b ‘ :
da

SRS

Given a =i+ 4}' + 21Ac, bh=3i- 2}' +7k and ¢ =2 hich is perpendicular to

both @aand b and f).g=18.

or
Find the image of the line ng =Y iéé ;_54 in the plane\x+ 4y *~2z+ 3 = 0.
R
Prove that the lines * ;2 _y—4_z-6 X3 1 ;3 are coplanar. Also find the equation of the
e.of dolls, A

+
4 7 7
plane containing the lines.

A toy company manufacturers B. Market tests and available resources have

e country and 20% are not sure about anything. If 3 people are
robability that 2 people believe and 1 does not believe that anger and
. How do you consider that anger and violence will ruin the country?

WHEN WE THINK WE KNOW, WE CEASE TO LEARN
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